Math 191 Test Two

Time: 50 minutes

Total: 20 marks

Name:




1. [2 marks] We want to approximate a solution to 3z% — 1822 +5 = 0. Use
the formula below with zy = 2 to find ;. Round your answer to two decimal

places.
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2. [4 marks] An object’s position (in metres) after ¢ seconds is described by:
x = 20t73 +6, y = 4t> + 4t. Find the object’s velocity at ¢ = 1 second.
Remember to include speed and direction. Round your values to one decimal

place.
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3. [3 marks] Let y = 82° — z*. For which z-values is y increasing?
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4. [3 marks| Use the formula below to find the linearization of
f(z) = V& cpmaitBe SN e Vol oz \b.
f(x) = f(a) + f'(a)(z - a)
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5. [4 marks| Find y/":
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6. [4 marks] We cut the corners from a 12cm x 12cm metal sheet to form

an open-topped box. Find the height of the box that maximizes the box’s
volume.
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